data one
do trt="strophl','stroph2','ouabain';
ni=7; if trt="ouabain' then ni=9;
do rep=1to ni;
duml=(trt="strophl'); dumR=(trt='"stroph2');
input tols @» tols=tols/10; |ogtols=log(tols); drop rep; output;
end; end; datalines;
155 158 171 144 124 189 234 242 185 200 227 170 147 220
523 991 476 651 668 576 493 458 669
*¥rkkxkkxkk  onlv comparina Stroohanthus 1 with Strophanthus 2 now *******xx*.
data one; set one; if trt='ouabain' then delete;
proc nlin hougaard data=one
parns thl=1 th2=1;
nodel tol s=t hl*duml+t hl1*t h2*( 1- duni)
out put out =two r=r p=p;
run;

The NLIN Procedure
Dependent Variable tols
Method: Gauss-Newton
Iterative Phase

Sum of
Iter thl th2 Squares
0 1.0000 1.0000 4381.3
1 8.8929 2.5429 632.7
2 12.7285 1.2962 338.8
3 16.3728 1.1631 150.0
4 16.7816 1.1841 144.0
5 16.7857 1.1838 144.0
NOTE: Convergence criterion met.
Estimation Summary
Method Gauss-Newton
Iterations 5
Subiterations 2
Average Subiterations 0.4
R 1.742E-6
PPC(thl) 4_.697E-7
RPC(th2) 0.000263
Object 8.244E-7
Objective 144.0229
Observations Read 14
Observations Used 14
Observations Missing 0]
Sum of Mean Approx
Source DF Squares Square F Value Pr > F
Model 1 33.3257 33.3257 2.78 0.1215
Error 12 144.0 12.0019
Corrected Total 13 177.3
Approx Approximate 95%
Parameter Estimate Std Error Confidence Limits Skewness
thl 16.7857 1.3094 13.9327 19.6387 9.47E-17
th2 1.1838 0.1209 0.9204 1.4472 0.3576

Approximate Correlation Matrix
thl th2
thl 1.0000000 -0.7639278
th2 -0.7639278 1.0000000




Scatterplot of residual vs predvalue
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Proc 1 m;

start neag2ll(th) alobal (vv, zz,nl, n2, nn);
thi=th[11: th2=th[2]; sia=th[3]; sia2=sia*sig;
ymeyy-thl*j(nl, 1); zmrzz-thl*th2*j(n2,1);
brac=t (ym*ymtt (zm *zm
t hi ngy=nn*1 og(si g2) +brac/ si g2;
return(thingy);

finish neg2ll;

nl=7; n2=7; nn=nl+n2;
yy={15.5,15.8,17.1, 14. 4, 12. 4, 18. 9, 23. 4};
zz={24.2,18.5,20.0,22.7,17.0, 14.7, 22. 0} ;
tho={16 1 3.5} opt={.,0};
con={. 001 .001 .001,
: . - b
call nlptr(rc,theta,"nea2l1",th0, opt, con);:
m nnea2l | =nea2l | (theta); print theta mnneg2ll; ans=j(50,5);
do jj=1 to 50;
ans[jj,3]=mnneg2l|+2. 71;
anslii,41=mnnea2l | +3. 84;
ans[jj,5]=m nneg2l | +6. 63;
star=0.8; fini=1.6; th2=star+(fini-star)*(jj-1)/49; ans[jj,1]=th2;
t hO=t heta; opt={., 0};
con2={. 001 .001 .001,

. . . h
thO[2] =th2; con2[ 1, 2] =th2; con2[ 2, 2] =t h2;

call nlotr(rc.thtil."nea2l1",tho, opt, con2);
ans[jj,2]=neg2l I (thtil);
end;

create dset from ans[col nane={t heta2 neg2l| cut90 cut95 cut99}];
append from ans;
quit;
data final; set dset;
y=neg2l|; zz=1; output;
y=cut 90; zz=2; output;
y=cut 95; zz=3; output;
y=cut 99; zz=4; output;

axi s1 w=2 m nor=none | abel =(a=90 font=swiss 'Profile Likelihood);
axi s2 w=2 mi nor=none | abel =(font=swi ss 'relative potency');
synbol 1 i=join w=5 | =1 c=bl ue;
synbol 2 i=join w=3 | =2 c=bl ue;
synbol 3 i=join w=3 | =3 c=bl ue;
synbol 4 i=join w=3 | =4 c=bl ue;
proc gpl ot data=final;
pl ot y*theta2=zz / fr vaxi s=axi sl nol egend haxi s=axi s2;
run,




Profile Likeiboood

THETA MINNEG2LL
16.785714 1.1838298 3.2073894 46.632806




